[bookmark: _GoBack][image: C:\Users\litchk\AppData\Local\Temp\7463842c-fcd0-4049-be5f-2c897a356b69.png]
[image: C:\Users\litchk\AppData\Local\Temp\3013c361-a647-41a0-9fc0-404fa8e91901.png]
[image: C:\Users\litchk\AppData\Local\Temp\847b87a2-b7c9-4fd0-9c69-9a58b5383301.png]
[image: C:\Users\litchk\AppData\Local\Temp\a868c095-555c-4859-af6d-f93b5c0e6e17.png]
[image: C:\Users\litchk\AppData\Local\Temp\cf8575b9-e2ad-48ac-ad5e-da73a6fd3772.png]
[image: C:\Users\litchk\AppData\Local\Temp\a8b067b5-023a-42d0-afa2-c49952e37577.png]
[image: C:\Users\litchk\AppData\Local\Temp\edb170f1-8a0b-4074-9d88-ade8389370bb.png]
[image: C:\Users\litchk\AppData\Local\Temp\659cfcc2-7dd2-43d7-87dd-bc57415a4db4.png]
[image: C:\Users\litchk\AppData\Local\Temp\36ec2eba-023e-436e-adcd-969a9673ec09.png]
[image: C:\Users\litchk\AppData\Local\Temp\e226e8ea-5565-4224-8ef1-98f86591dff8.png]
[image: C:\Users\litchk\AppData\Local\Temp\ee619236-6277-4bc6-b9fb-13853aeb4703.png]
[image: C:\Users\litchk\AppData\Local\Temp\371186d3-459b-464d-b6fb-fc46388068b0.png]
image7.png
Answer Key:
7 |@ckotvs @esoriss @unoriys @orz @aosorsas @uisorzars

s Thompson needs four cupsofsugar.

“Tis s 2 tricky concept, but it s mperative that the student understands what thy are doing vs.
Compltingan slgorihm withaut complete understandin, | the student trugges, esist teaching
them to mutiph 3+  shotcut Thereare some excllnt fre videos on th internet that may be
benefcal f you do  search fo ‘muliplying whole numbers by 3 fraction”. n addion, the
explanation | wrote on question #7 may be helpfl.

Common Core Standard: 4NF.4

S S —
8 | oo o, sges, an provero T pvases s ere e common, ant e et
ey heard he ey e ratweEngs speakr.  ecesary, th st may ook upthe
Shrases o e ntrne o ek meanin i unrow.
Common Cre Standar: 458

2 4% gader, e standards expected e sudent o ety 264 and sbtact -Gt whole
19| s i th st gt o means rtthe st s b i o conicenty

S st qucky a0 SEcurstey. Many e s o racionl algrthms (vorwing
2 cayig).Other studets may use racion! algrtms i adding with expanded fo).
The ket e e s iy and st

Answer key:
ROW 1:1323,734; 789
ROW 2:1562; 1008; 833
RO 3:389; 181,530
ROW 1:415;351, 705
Common Core Standord: 4 NBT.4

114 gade, th standards xpecied the sttt terpretdgrams and sxpain thlr meanings.
20 | Toee'e ot f mormatn e i iagram. T sacent shs e e mformation 0.
pracice her writg sl K oy be helpfl o suggstusin wordssuch s, et ten, and
fnly e g sentences win cpta et g0 ending with o orect puncustion
defitelyexpeteof a4 grade stcdert.

Common orestandors: 147
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Answer Key:
Equation 316418, Answer 18
Equation 7428, Answer 28
Equation 5315, Answer 15
Equation 43+12, Answer 12
Common Core Standrd: 4,041

Ingeneral, when ndependent dauses n 3 compound sentence ae oined by a coordinating.
Conjuncion, they are separated by  comma. The comma goes BEFORE thecoordinating uncton
(5nd,50,but,etc). An independent lause has a subjct and a ver.
Correct Evampl: We washed thedog, and then we cleaned up the mess tha he made.
Incorect Exompl: We woshed th dog, and then cleaned up his mess.
Theincorect exampl does not have two independent lauses because the subject(we) i mising
from the second part o the sentence.

Answer Key: fve underlined th subject and verb n each independent ciause)
ant 10 be 3 writerwhen | grow up, 50 ok rally hard n writing clss.
it 10 buy 3 new dres, but L don't have enough money.

s really sunnytoday, 5o hink | il wear my sunglasses.
o' like orange o red. (o need for 3 comma)

We icked them up ealy, but they sl missed thei plane.

Common Core Standard: L4.2.C

e ey
@< @ @ @< ® ©> @< e fraction 8/10 s greater than 4/6.

Common Core Standord: 4NF.2

il

127 grade, thestandards expecte the student {0 choase words precsey based on thelr
meanings 1 words are unfamila o the studen, they should be expected to use reference
materils such 3. dictonary or thesaurus.

Common Core tandord: L4.3
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Answer Key:
30ra2s or22/5 @s/20r 2% /50 1and 15 1077 01 and 37

A3or1and 13 @Martina runs 20 % mies in seven days.

“Tis s 2 ticky concept,butt s mperatie tht the tudent understands what they are doing vs.
Completingan lgorihm without complete understandin. I th student Struggles, st tesching
them to multply 2 3 shortcut.There are some excellent fre videos on th iternet that may be
beneficial i you do  search fo “muipling whole umbers by 3 faction”.In addtion, the

explanation | wrote on question #7 may be helpfl.
Common Core Standard: 4NF.4

“Tne student should write anopinionpiece sbot cel phanes i school,supporting s or hr
pointofview with at et three ressons. The student should capiale corecty and use standard
punctuasion.

Common Core Standord: W.4.1A

prer
e pcture s cqul o 254/
Vo e rachonsare ot e
Thepicure s caul o the following four ractons: /5, 53/103, /1.
Ve th rachansar eaunl
© ves.thecquation s e
Common Core standar: anF.1

4t grade,the standards expected the student o “Explain the meaningof smple s and.
metaphors ncontext.” The context should be 3 clue 3 0 the meanin.

Common Core Standard: L4.5.A
“nswer Key:
som
22 inches or eachstudent
Common Core Standard: 4MD.2

147 grade, the standards expected the student 1o nterpret agrams and explain ther meaning,
“There . ot of information gven nthis dagram. Th student should use that information to
practice their writn skls. I may be hlpful to suggest using words such s s, nextthen,and.
fnlly.Beginning sentences with a capita ltter and ending with thecorrect punctuations
einitely sxpected of 3 4 grade student.

Common Core Standord: RLA.7

A3 4% grader, the standards expected the student o “Fluenty add nd subtract mul gt whole
umbers using the standard algorithm.*This means the tudent should be able to onfidenty 2dd
and subtractquickly and sccuraely. Many studentsuse the radifonsl algorithms (borrowing and
carryin). Other students may use non-radionl aigorithms (.. adding with expanded orm).

T ey s that the student s oling quicky and accuratey

Answer key:
ROW 1:659, 1095, 1493 ROW 2:1506, 1228,564  ROW3:227, 447,83 ROW : 210, 144,435
Common Core Standard: .NBT.4
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The student should write an opinion piece about vending machines in schools, supporting his or
Per point of view withat eas three rezsons. The student should captalize correctly and use
standard punctuztion.

Common Core Standord: W.4.1.

“nwer ke
5006 =56 puppies, 56/915  with a remainder o 2, wHich is 7 days bfore they are al gone.
13452065, 65/1 - 5 teams with  remalnder of 10 players. Th student should resson that ths
means there are 5 complete tears.

Common Core Standard: 4043

4" grade, the standards expected the studen to “Recognize and explain the meaning of
common dorns, adages, an proverbs.” The phrases included hereare common, and th student
has likely heard them f they ae a natie Englis speaker f necessary, th student may look up the
Bhases on the nternet to find thei meaning f unknown,

Common Core Standord: L4.5.8

o area el e that epesets 3 il o Many Students e g
Gt ultptaton fobrm i s ea el neadof he sadrd o
8“.snmunmuu!-mhmmmnnmﬂmwﬂﬂemh«aﬂimm.m.m.ul
T ol shws 220+ 60 he student can sl th pralr b addig 20+220.220)
O3 @122 Oen
Common ore Standar: 4ar5

253 4% grader, the standards xpected the student to "Use context (., defiitons, examples, or
restatements i text) 5  clu tothe meaning o 3 word or phrase.”

Answer ky:
‘Alonghouse was a Native American house shared by many roqueis famile.e. More than one
il vt in 3 langhouse.

Cortal means shortn thelength e My mom say should curtal my TV watching.

Oblvious means someone does ot naic. 6. | was obiviousto the loud musi.

Alaceration s 3 cut on the 4n. . | got 2 deep laceration n my hand when | wrecked my bike.
“Common Core Standord: L4.4.4

37

e
@ tafest

@ sem

Common Core Standrd: 4MD.2

4" grade, th standards expected the student t nterpre dagrams and explain ther meanings.
There 53 ot of information gven i tis diagram. The student should use hatinformation o
pracicether writng sils. Beginning sentences wth a captl eter and ending withthe corect

punctuation s defntly expected of  4° grade student.
Common Core Standard: 4.7

39

2 area model s apcture tht represents 3 multiplication problem. Many students prefersovig.
it digit mulSpication probiems using an area model nstead ofth standard algorthm.

This model shows 72x 12 = 854 (he student can solve the problem by adding 700+14012004).

%vmmunmuxu-mhmmmnnmmmmwmmmnmﬂl

21,020 4.1876 5. 17,661
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“This acrivity s 35King the Student to practice Using relative pronouns. in 4" grade, students are.
xpecte o use elaive pronouns s that n 5 grade,they can explainthe function of each word
i3 sentence (nouns,verbs, adjectives, relative pronouns, prepositionalphrases, etc ).

Common Cor Standord: L4.1.4

aswer ey
‘Equation 31246, Answer s
Equation 4624, Answer 24
Equation 31721, Answer 21
Equation 5x11:55, Answer 55
Common Core Standerd: 4,041

‘Thestudent should wite an opiion plece about summer vacation vs. year long schools,
Supporting is o her point ofvew with a et three reasons. The student should capitalze.
Correcly snd use standard punctution.

Common Core Standord: W.4.1.4

aswer ey,
She gets nome 3t 7:30.
Each student should bring 2 pints.
Common Core Standard: 4MD.2

Allmouns ar words naming peopl, animas, laces, rings, and deas. Every noun cabe further
classified s either common or proper. Proper nouns ways begin with a capital eter.
Answer ey
The student shouldcircle the following proper nouns: Melss, Clforni, Burge King, Chevrale,
Starbucks, Arzons, Pepsi,Or. Marvin,Tyer, Bil Gates.

Common Core Standord: 4.2

36177415+15+143 total cakes, 143 cakes/  bakers = about 36 cakes each baker
535.3 = $105totaldolars, 5105/ 4 chicen - $26.25.Since he oy s whole dolar
‘amounts,he probably paid each chid $26.

Common Core tandard: 4.0A3

4t grac, the standards expected th student o Dplain the meaningof smple simies and
metaphrs ncontext.” The contex shoukd be 8 cue 2 o the meaning.
Common Core Standord: L4.5.4
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As 3 4™ grader, the standards expected the student to “Fluently add and subtract multi-digit whole
umbers using th stancard slgorthm.”Ths means that the student should be bl to confintly
24 and subtract quicly 3nd accurately. Many sudentsuse the radibonal algorithms (borrowing.
3 carrying). Other stucdents may use non-radiiona lgorithms (.. ading with expandec form)
The key i hat the student is sohing quickly and accuraely.

answer ey
ROW 1:887;884; 592
‘ROW 2:805; 1,308,993
ROW 3:428;190; 367
ROW 1:379; 143; 255
‘Common Core Standord: 4BT-

47 grade, the standards expected the student 1 nterpret diagrams and explain their meanings.
There s a ot ofinformation given i thi iagram. The student should use that nformation to
practicether writng skl may be helpful o sugaes using words such as s, next then, nd
finly. Begnving sentences with'a capitalltte and ending with the correct punctuaton s
defiitely expected of 3 4 grade studert.

Common Core Standord: LA

A area model i  icture that represents a mulipcation problem. Many students prefe sohing.

it igt muliplication problems usig an area model nstead of thestandard slgorithm.

@ his model shows 26 x 25 = 650 (the student can solve the problem by adding 400+100+120+30)
his madel shows 34 28 = 952 (1 stucent can scvethe problem by 3dding 600+240480132)
)s6,182 ©2028 ©1489%

Common Core Standord: 4B

Thestudent should wite an opinon plece about requiing students t learn foreign anguages,
Supporting is o her point ofview with a et three ressons. The student should capitalae.
Correcly snd use standard punctuaion.

Common Core Standord: W.4.14
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ANSWER KEYS o TIPS for helping the student with these problerms

TOP PROBLEM: When asked to make  number using ll of the numbers ncluded,they can make.
‘any number they k. The purpose of the problem s to practice writng umbers in the expanded
form an in word form. “Expandedt form” means breaking down the umber nto chunksof place
value. Forexample, i the student chose the number 560,234, the exganded form s 500,000
160,000+ 200 + 30 + 4. Thereason this sl s so mportant s tht it can be helpful with mental
math. For example, i someone s mentally adding 76 + 59, they could think, 70 + 50+ 6.+, The
purpose of wrting he nmber in word orm” i 5 tht the student s pracice saying/ariting
umbers tht are s digts or more.

BOTTOM PROBLEM: Answers - Greatest posile number = 754,320, Smallet possibe number =

123,857, The purpose o this poblemis 1o reinforce the concept f how place value works.
Common Core Standord: 4NET2

4% grade, students are expected to form and use preposiional pases. I 5% grade, they il
be expected to explainthe funcion of ach word n 3 entence (nous, verbs, adctves,
prepositonalphrases, tc), st s essentil that th sucdent aving 4 rade s able to use these
phrases withconfidence.

Common Core Standord: L4 1.

nswer ke
‘The equivalent fractons are 9/15 and S<3/555
The equivalent ractions are 6x4/6x12 and 8/24
The equivalent fractions are 4/20 and 244/ 10
The equivalent fractions are 6/20 3nd 363/3610
Yes, th fractons ARE equal
No the ractons are NOT equal
Yes, the fractons ARE equal
No he ractons are NOT equal
Common Core Standard: 4F.1

1047 grade, the standards expected the stuent t nterpret dagrams and explan thei meaning.
‘There s a ot of information given i thi dagram. The student should use that information o
pracice thir writn sils. I may b hlpful 0 suggest using words such s s, next,then, and
finlly. Beginving sentences with acapital ltter and ending with th corrct punctuation’s
deintely expected of a 4% grade student.

Common Core Standard: R4





image2.png
20 water stations.
125,
Common Core Standard: 4MD.2

answer ey

| Runon @ragment DRunon @Correct @fragment @correet

X student who has completed 4 grade should consistently write i complete sentences n
‘adciton, accordin o the standards, hey re expected to ecogrize nd corect ncrrect
Fragments and runcon senences.

Common Core Standord: La.1f

rem——

15 0r 2and 415
“The Hayden familyshould oder three pizas.

1£3 student strugglesto multipyfractons,avisual model may be helpfl For example, for 4 x2/3:
Step 1:Draw four wholes we doths because we are fnding 4 groups of 2/3):

S 2 ek hefourwoles nto s
MMODaoom

Step 3:Shade n 2/3 o each of your four whole. The model below shows fourgroups of 2/3:

Step o Lookat the model. How many tirds areshaded intoal? i this model, ight thirds (3/3)are
Shaded. Remermber, we ae looking at how many THIRDS are shaded, which s why our denominator
remains three. Many peopl gt confused on i step because they look at howmany of the four
piece of shaded, when they rall need o focus on how many of th tirds are shaded.

‘Step s: The answeris 8/3 or 2 . You can check your model by moving the shaded pieces into whole:

= NENEDID

We cansee that we have two complete wholes and then an additional 2/3. The answer is2and 2/3.

“Tis s atricky concept, but it is imperative thatthe student understands what they are doing s.
‘compleing an agorithm without complete understanding. I the student truggls, esist teaching.
themto muliply 23 shortcut. There are some excelnt free videos on the intermet that may be
benefiial fyou do  search fo “multpying whole numbers by  raction’.

Common Core Standard: 4.NE.4
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‘The student should write two descriptions - one of theiridea of a perfect day, and another on what
makes 2 good frend. The student should capitalze corectly and usestandard punctuaion. This
ssignment i 0 skin th student o cce il ofth adjectives, o descrbing words. Thisis
pracic for identifyingthis part ofspeech.
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A3 4 grader,the student was expected to be abl to “Recognize that in 3 mult-cigit whole
Pumber, 3 igt n one placerepresentsten imes wha  represents nthe place o s igh. For
‘xampe,recognize that 700 + 70 = 10 by appying conceps ofpace vlue and dvision.” Blancig
these equations develops place vale fluency.

Answer Key: (10P)

80tens = hundreds  20tens » 2hundreds
‘3thousands = 300 tens 3 thousands » 30 hundreds
30 hundreds = 300 tens § hundreds = 50 tens
20 tens =2 hundreds 400 tens = 40 hundreds
2hundreds 20 tens 90 hundreds = thousands

Answer Key:(BOTTOM)
70-7x20  9-%0110
4200+ 120410 250225 10
0-10x60  7000-10x700
22010 3200- 2010
20-10x80  0-10x6
Common Gore Standard: 4NAT.1

‘253 4% grader, thestandards expecte the student to“Use context (e &, defintons, examples, or
Fesatements i text) 5  clue o the meaning o & word o phrase.”

Answer key:
Preciptation s ain o snaue that . . There s not e much precpitation this summer.
Endothermic refrsto anmal that can generate their own body hest . A human s ndothermic.

A marsupial £ an animal tha caries £ own baby in 3 pouch on s boc. e A kangaraa 3

marsupial.

Novious means poisonous chemicals, . Many leaning products ncude noxous chemicals.
Common Core Standord: L.4.4

453 4" grader, thestandards expecte the student to“Fuertly dd and subiract mul igit whole
Pumbers uing the standard lgorithm. This means the tuden should be able to confidety 3dd

and subtract quicly and accurtely. Many students use the radiSonsl aigoithms (borrowing and

carrying). Other students may use non-raditional lgorithms (.2 adding with expanded form) The
ey i that the student is sohing quicklyand accuraely.

AnswerKey:
ROW 1:1,210;1,301; 1549
ROW 2:880;1235; 1158
ROW 3:798;95; 252
ROW 4:170;263; 436
Common Core Standord: 4.N8T.4
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‘The following 16 words should be circled:

Row1: Carlotie'sRow 2:Web Fern  Row 3: Wiber _Row: Charlote RowS: Witer,
Charote’s Web Row: (nothing) Row 7: Chidren's Guide InsectsSpders - Row 8 nothing)
Rows: Crarlote’s Web_ Row 10:Charotte’s Web  Row 11 (nothing]

Common Core Standord: L4.2.4
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‘Rounding to the nearest thousand:
2432-32000 8256583000 5555556000
67249-67000  23906-20,000 10,990~ 11,000
9379054000  60202-60,000 87,959-85,000

Rounding t the nearest hundred:
2432-32400  82565-82,600 5555555600
67249-67200  23906-23900 10,992 11,000
937%0-93800  60202-60200 87,959-85,000

Rounding t the nearet ten:
243232030 82565-82570 5555555560
67249-67250  23906-23910 10,992 10,950
9379293790 60202-50,200 87,959-87.960
Common Core Standard: 48T.3

4" grade, th standards xpected the student to interpre dagrams and explain their meanings.
There .3 1ot of information gven inthis dagram. Th student should se hatinformation o
practicether writng ils. Beginning sntences with a captl eter and ending with the corect
punctuation s defntely expecte of 4 grade student.

Common Core Standard: 4.7

“Expande form” means breaking down the number nta chunks of place vaue. For example, f the
student chose the number 560,234, the expanded form s 00,000 + 60000 4200 +30 + . The

rezson this kil s so important s that 1 can b helpful with mental math. For example, fsomeone.
s mently adding 76 + 59, they could think, 70+ 50 + 6.+ 3. The purpose f writingthe number in
“Word form” i 5o tht he student s practice sying/riting numbers that are i gt o moe.

AnswerKey:
05 six hundred oight; 600 +5
5,089 fie thousand eighy ine; 5000+ 80+
76,329 - seventy.sx thousand, tree hundred twenty-nine; 70000 + 000+ 0042049
655,343 six hundred fity-cigh thousand, three hundred foty hree; 600,000 + 5,000 + 000 +
30004043

3,052,621 - three million,four hundred iy two thousand, six undred twenty-one; 3000000+
100,000+ 50,000+ 2,000 +600+ 20+ 1

Common Core Standard: 482

0% grade, the standards expecied the student to direcly quote text sing the proper

punctuation

For example: Something my teacher auays says s, “your penciis onthe floor”.
Common Core Standord: L4268





